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Run 5505 triggerwise, sums: All
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Entrizs: 1534082

Mlzan: 2555.5749 4 BA915

Std Dew: B040.302D 4+ 4.5902

=

10000

20000

30000

40000

50000

60000

70000 BOODO

sum

Run 5505 triggerwise, sums: Beam ON, Laser ON
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5id Dew: 74743976 +'+ B.655%
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Maan: SE37.8452 4 4257

Std Dew: 74253236 +- B.BBED
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Run 5505 triggerwise, sums: Beam OFF

20

18

16

14

10

e LTI frrrfirigrrd

12 I

L

mnw ﬂ%nﬂm

Entriza: 180

Mlzan: £599.04484 & 522 TIT2

Std Dew: TO13.2652 4+ 368ET10
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sum

Run 5505 triggerwise, sums: Beam ON, Laser OFF

50000

AR

40000

30000

20000

10000

D|-L|'|‘—1—=EII|IIIIIIIIIIIIIIIIIIIIIIIJ_lJ_IlIIIIl

— Helicity==0
— Helicity==

Enirias: 102588

Mhzan: Z014.2970 4 269156

‘Bed Dwrw: BEZZATOD &5 100250
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